Swift v. Gifford:   Reading Comprehension Self-Quiz

(1) The court says on page 68 that the “only disputed question of fact … was concerning the reasonable probability that the whale would have been captured by the Rainbow, if the boats of the Hercules had not come up.”  How did the court resolve that question?
(a)  It implicitly made a finding of fact that it was reasonably probable that the Rainbow would have captured the whale if the boats of the Hercules had not come up.
(b)  It implicitly made a finding of fact that it was not reasonably probable that the Rainbow would have captured the whale if the boats of the Hercules had not come up.

(c)  It stated that it was unable to resolve the question.
(d)  It refused to address the question because it decided the case on the basis of custom. 
(2)  Which of the following accurately describes the custom whalers express as “the iron holds the whale?” 
(a) The whaling ship that first puts a harpoon in a whale gets absolute property rights to that whale.
(b) The whaling ship that first completely shackles a whale with iron implements gets absolute property rights to that whale.  
(c) The whaling ship that first uses iron blades to cut into a whale gets absolute property rights to that whale.  
(d)  None of the above. 
(3) The court says on page 69 that, “The validity of the usage is denied by the libellants, as overturning a plain and well-settled rule of property.”   In the context of the court’s analysis, what does this sentence mean? 
(a)  The libellants argued that the court should not treat the custom relied on by the respondents as legally binding on the parties.
(b)  The libellants argued that the custom relied on by the respondents did not exist.

(c)  The libellants argued that the custom relied on by the respondents existed, but did not cover the factual situation at issue in this case.

(d) None of the above.
(4) The court treats all of the following concerns as relevant to whether to treat an industry custom as legally binding except: 
(a) Whether applying the custom might disturb the settled understanding of some of the relevant parties. 
(b) Whether applying the custom might prevent dangerous quarrels.
(c) Whether the custom is observed everywhere that the industry is practiced. 
(d)  How long the custom has been observed.
(5) In the first full paragraph on page 70, the court discusses Bartlett v. Budd. Which of the following best describes how the court deals with Bartlett?
(a)  It follows Bartlett by holding that the killer of a whale gets superior property rights to the finder. 
(b) It follows Bartlett by refusing to apply an unreasonable custom as law.
(c) It overrules Bartlett, by adopting as binding law the custom rejected by Bartlett.
(d)  It distinguishes Bartlett, finding the part of the custom relevant in Swift to be reasonable.

